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1. a) 1

2
.

b) 1− cos(2).

2. a) sen 4

4
.

b) 1

3
.

3. a)
∫

0

−1

(

∫

√

1+y

0
f(x, y)dx

)

dy +
∫

1

0

(

∫

√

1−y2

0
f(x, y)dx

)

dy.

b)
∫

1

0

(

∫

1√

1−y2
f(x, y)dx

)

dy +
∫

2

1

(

∫

2−y

0
f(x, y)dx

)

dy.

c)
∫

0

−1

(

∫ π−arcsinx

0
f(x, y)dy +

∫

2π

2π+arcsinx
f(x, y)dy

)

dx+
∫

1

0

(

∫ π−arcsinx

arcsinx
f(x, y)dy

)

dx.

4. A área é 5

3
. A coordenada x do centróide é 7

20
.

5. a)
∫

1

0

(

∫

1−y

0

(

∫ x+y

0
dz
)

dx
)

dy, e
∫

1

0

(

∫ z

0

(

∫

1−x

z−x
dy
)

dx+
∫

1

z

(

∫

1−x

0
dy
)

dx
)

dz.

b)
∫

1

−1

(

∫

√

1−y2

−

√

1−y2

(

∫

√

1−y2

−

√

1−y2
dz

)

dx

)

dy e
∫

1

−1

(

∫

√

1−x2

−

√

1−x2

(

∫

√

1−y2

−

√

1−y2
dz

)

dy

)

dx.

c)
∫ 1

2

0

(

∫ y

0

(

∫

2y

y
dx
)

dz +
∫

2y

y

(

∫

2y

z
dx
)

dz
)

dy+
∫

1
1

2

(

∫ y

0

(

∫

1

y
dx
)

dz +
∫

1

y

(

∫

1

z
dx
)

dz
)

dy,
e
∫ 1

2

0

(

∫ z
z

2

(

∫

2y

z
dx
)

dy +
∫ 1

2

z

(

∫

2y

y
dx
)

dy +
∫

1
1

2

(

∫

1

y
dx
)

dy
)

dz +
∫

1
1

2

(

∫
1

2
z

2

(

∫

2y

z
dx
)

dy +
∫ z

1

2

(

∫

1

z
dx
)

dy +
∫

1

z

(

∫

1

y
dx
)

dy
)

dz.

6. a) Pode ser
∫

1

0

(
∫ x

0

(
∫ x

x/2

dy

)

dz

)

dx,

b) Pode ser
∫

1

0

(

∫

√
1−z

2

−

√
1−z

2

(

∫

√

1−y2

√

z+y2
dx

)

dy

)

dz.

7. 1

6
.

8. 7

12
.

9. A primeira coordenada do centróide é 4

5
.


